
a. Vaginal, vulvar and penile cancers b. Lung cancer

c. Endometrial and ovarian cancers d. Colon cancer

e. Anal cancer f. Oropharyngeal cancer

g. Cervical cancer h. Lip and oral cavity cancers

Appendix to: Shack L, Lau HY, Huang L, et al. Trends in the incidence of human papillomavirus–related noncervical and cervical cancers in Alberta, Canada: a population-based study. 

CMAJ Open 2014. DOI:10.9778/cmajo.2014005. Copyright © 2014 The Author(s) or their employer(s).
To receive this resource in an accessible format, please contact us at cmajgroup@cmaj.ca.

Appendix 1 (as supplied by the authors): Age-standardized rates (ASR) of cancer per 100 000 by 5 years of diagnosis, Alberta, Canada, 1975–2009.  The rates are 

standardized to the 1991 Canadian cancer population. Note: APC = annual percentage change for 5 years of diagnosis. 
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